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SECTION A  
(6X5=30) 

S. No.  Marks CO 

    

Q1 Fill in the blank 
a) “KAI-ZEN” Means………………………………… 
b) Concept of “Zero Defect” is given by………..      
c) ‘Trilogy of Quality’ was introduced by …………………. 
d) “Yield Losses” belongs to…………… 
e) “Fitness for Use” was given by………………. 

5 
(1x5=5) 

CO1 

Q2 TRUE/FALSE 

Which of the following statements are true? 

a) Only Top management is responsible for TQM (T/F) 

b) Quality is not only products and services but also includes people, 
processes, and the environment (T/F) 

c) Dr. Edward Deming coined the term “Big Q”. (T/F) 
d) ‘Prevention cost’ is inversely proportional to appraisal costs.(T/F) 
e) The term total quality control was describe by A. Fergenbaum. (T/F) 

 

5 
(1x5=5) 

CO2 

Q3 Assuming a normal distribution with mean µ and standard deviation σ, express 
the interval to contain 90% of observations in terms of µ and σ. 
a) µ±0.645σ 
b) µ±1.645σ  
c) µ±2.645σ  
d) µ±0.0645σ 
e) None of the above 

5 CO2 

Q4 A production process makes batteries for 9 +/- .025 volts applications at a cost 
of $0.75 each. Determine Taguchis Loss when a part is made at 9.10. 
a) $ 0.12/part  
b) $ 1.20/part  
c) $ 1200/part  
d) $ 12.00/part 
e) None of the above 

5 CO3 



Q5 Is there any relationship between specification limits and control limits of x-
bar and R charts? 
a) Yes, Specification limits = Control limits 
b) Yes, Control limits=Specification limits/2 
c) No 
d) Yes, Control limits*0.5 = Specification limits 
f) None of the above is right 

5 CO4 

Q6 From past experience, a manufacturer concludes that the burnout time of a 
particular light bulb follows a normal distribution. A sample of 1000 bulbs has 
been tested and the average life found to be 60 days with a standard deviation 
of 20 days. How many bulbs in the entire population of light bulbs can be 
expected to be still working after 100 days of life?    
a) 37 
b) 29 
c) 44 
d) 23 
e) None of the above 

5 CO2 

SECTION B 
(5X10=50) 

Q1 Write the short notes on the following 
a) JIT 
b) CAPA 
c) 5-S 
d) Benchmarking 
e) Six Big Losses in TPM                  

10 
(2X5) 

CO1 

Q2 a) The weights of bags of chips for a vending machine are normally distributed 
with a mean of 1.25 ounces and a standard deviation of 0.1 ounce.  Bags 
that have weights in the lower 8% are too light and will not work in the 
machine.  What is the least a bag of chips can weigh and still work in the 
machine? 

b) What is the role and responsibility of MR in implementing QMS 
 

10 
(6+4) 

CO2 

Q3 a) What is producer and consumer risk involve in sampling? Draw the flow 
chart to explain the double sampling plan?  

b) A spindle with specification 20+/-0.05 mm was machined in a lathe. The 
standard deviation of the spindle machined was found to be 0.25 mm. 
Compute the capability ratio Cp and capability index Cpk. State whether the 
machining process in the lathe is capable of meeting specifications.                         

 

10 
(5+5) 

CO3 

Q4 a) What is Robust Designing? Explain with example? 
b) What are the four phases of QFD when applied in manufacturing sector?                                                     

10 
(5+5) 

CO2 

Q5 a) Write all the clauses and sub clauses of ISO 14001:2015 EMS.? 
                         
b) Write the formula of reliability in term of MTBF? Calculate the overall 

reliability of the system if individual reliability of each sub system is 0.2?         
 

10 
(5+5) 

CO3 



 
 

SECTION-C 
(1X20=20) 

Q11 (a)Briefly explain the role of TPM in industrial growth? Write the steps of 
implementing TPM in an any organization? 

(b) In total 7164 parts was produced in manufacturing unit in 8 hour working shift 
with two 10 minute planned breaks and a 5 minute defined clean up period. 
Calculate OEE if machine is not functional nearly 32 minutes (unplanned down 
time).Given Rejection-8% and Production Cycle- 0.3parts/sec).  

 

20 
(8+12) 

CO4 
 
 
 

 

 

 



 

 

 

 



 


